Name:______________________________________________________
Unit 3 – Slope Intercept Story Problems Guided Practice

Video 1:
The independent variable changes _______________________ and is usually the _____value in an ordered pair.   The dependent variable changes ______________________________________________________________  and is usually the ______value in an ordered pair.    In the example given about Deanna babysitting and earning money, identify the independent and dependent variables by circling the word dependent or independent:
1.  Amount of hours Deanna works is the dependent/independent variable
2.  Amount of money Deanna earns is the dependent/independent variable.	
Give an example of an ordered pair with x representing the independent variable and y representing the dependent variable.  For instance, (number of hours studying, grade 
on a quiz).      (______________________________ ,  _________________________)
                                                            x                                                         y

Video 2:
Graphically, the slope of a line (m) affects how __________________ it is.  
Why do they only use quadrant 1 in the car example?___________________________ ______________________________________________________________________________________________________________________________________________
In the example of raising money to buy your dream car, the x axis (x value) represents ________________________________ and the y axis (y value) represents ______________________________________________________________________.

For every year that goes by you would have to save $___________________________.  

In the texting and test score example, the independent variable is represented by _____________________________________________________ and the dependent variable is represented by _______________________________________________.

According to the texting and test score graph, if you text for 30 minutes in class, what can you expect to get for your test score?___________________________________.

The key information you have to understand is the ___________________________ and ______________________________ variables of the problem, how much the relationships change over time or the ______________________ of the equation, and where the model in the situation begins, or the _______________________.
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